Ответы:
1 варіант

1). 600м
2). ППв = 1ф(л)
3). ППв = 0,5 ф(л)
4). ППв = 0,5 ф, Упр = 1,25, ВТП = ППв + Упр = 1,75 ф (л)
------------------------------------------------------------------------------

2 варіант

1). 200м
2). ППв = 1ф(п)
3). ППв = 1 ф(л)
4). ППв = 1 ф, Упр = 1,75, ВТП = Упр - ППв = 0,75 ф (п)
------------------------------------------------------------------------------

3 варіант

1). 500м
2). ППв = 3ф(л)
3). ППв = 0,75 ф(п)
4). ППв = 1,5 ф, Упр = 2,25, ВТП = Упр - ППв = 0,75 ф (л)
------------------------------------------------------------------------------

4 варіант

1). 600м
2). ППв = 0,5ф(л)
3). ППв = 0,375 ф(л) или 1/3 ф(л)
4). ППв = 2 ф, Упр = 1,75, ВТП = Упр + ППв = 3,75 ф (п)
------------------------------------------------------------------------------

